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generated.
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mpp-p/bulk-p 00 unlinit D0O00O000000000000O00000000 M mpp-s/hulk-s000000

00000000000 0O00000D00#@-1MI0 26BO0000O000000O0




ugoobobboooboboboooooboboooobobobooooooboooobooon
O00#@-IMJODOO0OCOOO00O0OlNimt OO0O00O000wnlimtOOO0O00O00O
obobooooob-e400000000000DODOODO

e [J00DO00O0OOOODO DATADODOOOOOOOOOOODOODOODOODbOODbOODOOD
2,147,483 647000000000 0ODOODOOOOOO
® ASSIGNOOOO0OO0OO GOTOUOFRMTOUODOOODOOOO8OOODOODOOOODOO
- 000OO0OO0O00ODOO0ODOO0OmOOOO-intexp=full OOOOOOO40000000
goooobooobo sgboooogoooobooooooooooobooogoo
e [U0OU00OO0ODOODOOOODOUODSSOUDODODOOOOO
- [bOobOoboboooooobobOobOoboboboOoboobD sooboOobOob 400000
gboboobuobbO0O-exsrve DODOOOOODOOOO
e [000OO0O-hugearyOOD0O0OCOOO0OO0ODOOOOCOOOOSOOOOOOOfOOODO
- LBOUND,SHAPE,SIZE,UBOUND,COUNT,MAXLOC,MINLOC

gbhmkcGBUOODODOOODODODODODOODOODOODODO0O0OO00O0000 3200000000
gbobogobooooooon

goooooo
gboooobooboobooboboobooboobooboboobooDbo

gbooboobobooboobooboboobooboobobbooboobon

gbobobooboobobooooboboboooooobobobo

—loglist oooooooooonnnn
% f77 -parallel -loglist program.f 00oo0oOobOoooobooooo
f77: compile start : program.f
ooooooooooooooood
*0FORT77 V01-01-A entered. ooooo
*program name = MAIN 00Oo0oO0oOooood.doeg O
*end of compilation : MAIN dooooooooooood
*end of compilation : _parallel_func_1 MAIN
*program units = 0001, no diagnostics
generated
% Is program.log0 00000
a.out program.f program.log
% cat program.log 00000000000 program.log OO0
parameter (n=1000)
real a(n),b(n),c(n)
** Parallel processing starting at loopentry OO OO00OOO
** Parallel function: _parallel_func_1 MAIN
** Parallel loop ooooooo
** ——- loops merged(DO10 and D020)--- gboloobo200 00000
** Parallel processing finishing at loop exit
**
wx [DO 10]
** Innermost loop unrolled (2 times). dooooooooo
XX there 1is no target for pattern OO0O0OOOOODOOOOO
referencing,PVP not applied.
**
ooog




gbobobobobobobobobobobomobDoo0o0oo0oOgn0 LANG O
gbobgooooboobobomooooooboboboooobobooooobon

=listlang=0 000000

% 77 -parallel -loglist program.f
-listlang=sjis

f77: compile start :

O0oooooooooooooo
0oooog -listlang=sjis O0O0O0O
program._f

*0FORT77 V01-01-A OO
*W00000 = MAIN
*end of compilation : MAIN
*end of compilation : _parallel_func_1 MAIN
*M00000 =0001 , DO0ODOOOOOOO
% cat program.log

parameter (n=1000)

real a(n),b(n),c(n)

= 0000000000 OO0
* 000000 : _parallel_func_1 MAIN 0000000000

» 00000

* ___ 0000000000100 D020)---

~oLo0oDooOD bO 0000000 0O000O000O0
- c 00 0ASCHD
= [D0 10 sil's 000 0SSO
o (20)00000 EUC 00 00EUCH

O
gobooboogo

gooooao
gboobooboboobooboobooboobooboobobooboobo
gbooboobobbooboobooboboobooboobobbooboobon
gbooboobobbooboobooboboobooboobobbooboobon
gbobooooooobobo0bpmpr 000D O0OO0O0OODODODOOO

—pmfunc ooooooooooooooooooononn

% 77 -parallel program.f -pmfunc
f77: compile start : program.f

*OFORT77 VO1-01-A entered.

MAIN

*program name =
= SUB

*program name =

*end of compilation : MAIN
*end of compilation : _parallel_func_1 MAIN
*end of compilation : SUB

*end of compilation
*program units =
generated.
% a.out
3.00000000
% Is
a.out
program.f
pm_a.out Aug22 1625 node000 149513

: _parallel_func_2_SUB
0002, no diagnostics

3000.00000

gboboobobooobooobooobbo
go

gobooobooooog

O I i o R oOod
O oOoo O sodg
BDD
o o
o o
O
O
O
O
O
O
O
O

O

goboobbooobooobooobbo
oogd




% pmpr pm_a.out_Aug22_ 1625 _node000 149513 pmprd 000000000 OOOODOODO

pm_a.out_Aug22_ 1625 node000_149513: Opmpr -j OOOOOODOOOODOO SJIS

ooo oopooooo

HHHHHHHHHHH T A ]

## Function/Subroutine #i

HHHHHH AR

== Function/Subroutine Ranking == dooooooooooooood

gooodooooooooooooo

CPU-Time[%] Times Func(FiletLine) Vol.2N0.4(2000.7)0 SR8oo0 0 O OO O d

——————————————————————————————————————————— gooodoooooopooooooogo

[1] 0.004126[93.08] 1 MAIN(program.f+3) ooooooooooo

[2] 0.000011[ 0.25] 1 SUB(program.f+14)

TOTAL 0.004137[93.32]

gooboboboooobooooooobobobooooboboobbooobboobooooonbooon
ubobooooboooobboano

—-pmpar ooooooooooooooonooonnn

% 77 -parallel program.f -pmpar oo0boobObOoOoobDOoOoobooooog

f77: compile start : program.f oo

*0FORT77 V01-01-A entered. ooooU0oooUooooUooooooog

*program name = MAIN good

*program name = SUB OCopm 0000000 _OO_OO

*end of compilation : MAIN _0o0oOoo0 oooogooag

*end of compilation : _parallel_func_1 MAIN goodooooOooooogon

*end of compilation : SUB dooooooooooooooooo

*end of compilation : _parallel_func_2_SUB go0oooOooooooood pmpr

*program units = 0002, no diagnostics goooboDobooobDOoooooDoon

generated.

% a.out oboo0o0o0d aout 0OODOO
3.00000000 3000.-00000

% Is

a.out O000o0oU00ooUoooouoooouooog

program.f ooad

pm_a.out_Aug22_ 1647 _node000_149551.

% pmpr pm_a.out_Aug22_1647 node000_149551 pmprd0 000000000 ODOOODOODO

oono Opmpr -j OODOODODOOOOO SJIS

HHHHHHH A AR D 00000

## Element Parallel Region

TR R

== Element Parallel Region Ranking == goooboOOoooobooooood
goooooOooOoOobDOoooOooo

CPU-Time[%] MFLOPS MIPS Times Func[Rank] Vol.2N0.4(2000.7)0 SR80 0 O OO OO

——————————————————————————————————————————— gooooooooobooboooogoo

[1]0.000006[ 0.03] 173.010 963.322 1 SUB[-] oooOoooooooo

[2] 0.000005[ 0.03] 392.912 1104.777 1 MAIN[-]

TOTAL 0.000011[ 0.06]

oooo0ooooooooad

gobobboooboboboooooobobboooobboooooonoobooooobooon
gogoboboboooboboboooooobooooboobooooooboooobooon
gogoboboboooboboboooooobooooboobooooooboooobooon
uoboooobooooboog



—diffcomp Ooooooooooooonnnnn

% 77 -diffcomp program.f 00o000oO0obOOooooboooon

f77: compile start : program.f doooodoooooooo

*0FORT77 V01-01-A entered.

*program name = MAIN

*program name = SUB

*end of compilation : MAIN 00000 MAINOOODODOO

*end of compilation : SUB doooosuBOOOOOOO

*program units = 0002, no diagnostics

generated.

% Is

a.out program.f program.o O0000oDoDO0Ogo programo O0OO0O
0000 aout0O0D0OODO

--o0ooon suBoon--

% £77 -diffcomp program.f 00000 suB ODOOoOOoDOoOOoODooOOO

f77: compile start : program.f ooooooo

*0FORT77 V01-01-A entered. 00000 MAINOODOOOODOOOOOO

*program name = MAIN gooooo

*program name = SUB gopooosuBOOOOoDDODOOOoOOOoOO

*end of compilation : SUB gooo

*program units = 0002, no diagnostics 0O 00O OO0 *end of compilation : MAINO O O

generated. gooooo

%

oooo0ooooooooad

gooboboboooobobooooooboboboooobboobbooobboobooooonboon

uoboooobboobbooobooobboobooooobboaonn

—recomp oooooooooooooonnn
% 77 -diffcomp program.f 00o000oO0obOOooooboooon
f77: compile start : program.f o0ooooOOooOooboooo

*OFORT77 V01-01-A entered.
*program name = MAIN
*program name = SUB

*end of compilation : MAIN
*end of compilation : SUB
*program units = 0002,
generated.

% rm program.f

% Is

a.out program.o

% f77 -recomp -parallel
f77: compile start : progral

*OFORT77 VO1-01-A entered.

*program name = MAIN
*program name = SUB
*end of compilation : MAIN
*end of compilation : SUB
*program units = 0002,

generated.
%

no diagnostics

program.f
m.f

no diagnostics

00000 MAINOOOOODOO
ooooosuBOODOODOO
gboo0oobogoonO programo O0OO0O
0000 aoutOOD0O0ODO
OoOooOooooooO program.f 000
oooOo0oo0O0o0oocoobOoboooDooo
obobooooboboobooooboogo
OO0D000O0O-parallelDO0O0OOCOOOO
obooboooobobooboobooboobgo
oo0oO0o0oo0O00oCcOoboooDbooon
00000 MAINOOODOODOO
ooooosuBOODOODOO




oooooono

goobobobooooboboooooobobobooobboobbooobboobooooonbooon
uoobobobooobboboooooobobooooboboooooobooooobooon
uoobobobooobboboooooobobooooboboooooobooooobooon
uoooooboogoao

—limit oooooooonoonn

% 77 -limit program._f
% £77 -nolimit program.f

oboooboooon
gooobgooodn

goooogoooao

gooooooon
gboobobobooooon

—debug oooooooon

% 77 -debug program.f
% 77 -argchk=2 program.f

gbooboooboooo
goooodoooogooog

—debug

ooooooobooooooooOoooooboOooooooo
—Icheck —dochk -argchk=2 -dline —erstmt -agochk —subchk

—Icheck
FORTRAN OO 0OJISX3001-1:1994 0 [0:19980 00000000 OCOOOO0OODO
Oo0oO00oOopooogo

—dochk
poUdOdpoOOOOU0oOODOOOOOUOODOOOUOODODOO

—argchk=2
Oo00oOoO00oo0o0Ooo0o0oooO0Oooo0o0ooDoOoOoUoooOooOoooDoOoo
OO0000000Q0-argchk=100000000000OOCO

—subchk
0oo0oooOoopooo0ooooO0OoooO0UoDoOoUooDoOoOoUoOoooOoOooDooOoo
oo0

= [fOO000000-argchkd-subchk OOOOOOOOOOOOOOOOOOOOOOOOODODOOO
ooooooooooOoooooooooooooooooo
KCHF446R segnentati on viol ati on occurred.
oo0oooooooOoooooooOoOoooooooOoOO0-s, TRACEODOOOOOOOOOO0O

oooooooooo
gobobboooboboboooooobboooobbooooooboobooooobooon
uboboooobooobbooboboobooobbooboobboobbobobaang

—s,TRACE ooooooooono
|%f77 -s,TRACE program.f 000000000000000 |
000000000D00000000000D 00 0x100004c8 SAMPLE+Oxc8 [ program f: 18] O




ooooooOod
OO0 FORTRANOOOODOOOOODODOOOOODOOOOODOOOO sreooodooo
gdodbodooouobooodoooooouoouoooooouobuoooouo oo
oot oboouoooouoouoodgo
—nosymnchk
0o OoDoooooooooOoOoOOoOooOoOoOoOooODoOOODODmMf7T7OOO
—-i,u
000ddooboD 00oooooooonD sl 0d0ooooooooooooo
O0D0Dmfrr00000 —nosymnchk OO O ODOOOOOOOODOOO
—i,P
gdooobooooooooouoooodgo

- booobooobpbombobooboboobooboo
- goONLOOoooboQUoOoO

- 0000000 VALDOREFRFO

- booboboboobobobooboboobaob

- DO WHILED

- DOUBLE COMPLEXO O

=~ pgoobOooboboooboboooboobobooboobOoboo

—i,PL
SUOODOOxxxx[M16 0 00O Zxxxx'116 00 00O X'xxxx'D O'xxxx’XO O OOO
0000 fr7r O0D00O -hgo00 O 0O O0OD0O0OD0OODOOODOOO

—iLT
" 0000000000000 00000D000000000000000000Od
O”" 0000000000000 00o00o0mMfrroO00

—-h8000
OS7TFORTRAND O OODOODODOODDOOODOODODODOODOOOOOOOOO
oooBooLOOOODOODOOODOOODOO

—cpp
cooooooooooDooDooDoood

—e
0000000000000 000000000000000000D0000000
O0000000o0oooooooo

ooooooogoo
-i,P —i,PL —cpp -contil99 -h8000 -—intptr -fixed=119
oo000odbOb0Oo0oooooboooobooOoooOon

—F'port(econv,eofback(0),eofrd,eofrdt,getarg,getenv,iargc,msgout(stderr),
nmlist,nscrach,prcntl,realedt,rewnocl,tabsp),runst(damnonl,umask)’



23. 00000000

00000000000000000000000O00D00O0000OD000DODO0
0000000000 FORTRANDOOODODOODODDODOOODOODDODODDOODOOOooOO
O0000D0-FOO0D0ODOO00DODOOO00ODODOO00ODOOO0OODODOO0O0OD
000000Dooooooooooooooon

0oo0o0ooooo -FO0ODOOO0OOD,0D0000D000, ..
000000000000 000000000D0DO00DO0O0000DD00DODDOo0D
000000000000 000000000D0DO00DO0O0000DD00DODDOo0D
O00 aout000000000000D0ODDMDODO0O0O0OODODOOOOOOOOD
Ooooooooo

a.out -F port(fortuf, host), runst(uflow)’
000000oopoooooooooo
runst (ufl ow)

0000000000 0000000000000000000DO00DoO0OO0
0000000000000 00000D00O0000D0DODDOD000O0oDoO0000on
runst (of | ow)

0000000000 0000000000000000000DO00DoO0OO0
0000000000000 00000D00O0000D0DODDOD000O0oDoO0000on
= runst(fpecntl(0)) DO OO OO0D0D 0000000000000 OOODODOODOON
port (econv)

EOCOESOUDENODOOD GOOOO0O0OODODDODOOOOOOODOODDODOOOO
000000000 0000000000000EODOOOOOOOOOOOOOOD
O00000oo0oDMO000DooQEuUUIUIUNDDOO0DOUODOoD
port (real edt)

0000000000 EOODOOQUDUOD GUOUUUOODDDODODOOOO
000000000 000E+000 00000 DDODOOODONODODDOOOOD
000000000o0oo0oo0ooD oO0O0O0O0DDOOoOO 0.200000000 E+01 O
0.200000000000E+00 O O O O
port (tabsp)

0000000 TABOOOOODODODOOODOODOOODOOOO
port(prcntl)

0000000000 0000000D00000O0000000oDo0OoDoDO0
O000oooooooooon
port (dst duf)

0000000000 0000000D00000O0000000oDo0OoDoDO0
0000000000 FORTRANDOOODDOOOODODODOODODmMOoOoOoooo



port (stduf)
godoooooooouoodoouoooooooooooooooooon
000000 BACKSPACEODOODODOOODO portdstduf)D O OO0 DOOOODODO
port (fortuf)
000000ooooooooboooodd FORTRAN DOODODDODOOOOOO O
0000000000 ooOooooOOodrdI-osSHI-MIJOOOOoooooooooooo
ddddoooooovossoooooooooooooooo

= [0D00000000O0000bOO0O0Os2. 00bOOobooobobooobooo

port (sr8000)
0000000000000 0000000 sReoOOCD OO OOOOODODO ODOO
O00000000000000D IEEEDDDODOO0OODOMOO0ODOD
port (i eee)
0000000000000 0000000 sSR22010000000000 0OO
000000000000 000D IEEEDDDODOOOOODOD
port (host)
0000000000000 000000 MOOOVOS300OSH1-MJOODDOOO

0ooo

= 0000 nOO0OU0O0O00O0DOODOOCOOOOO0O0OOOOODOOOCOOOOOOOOOn
000D0O0DOO0O0O000000d runst(evin(mn)))OOO runst(cvout(mn)))oOO
oooo

runst (cvin(mn)))
0000 n0000D00O0ODOO00000D0ODODODODOOO0 MO VOS3MOSKF/1-MJO
OO0 SR8oODI D00 OD0ODODOODDODO0Mn000000ODOOODDOO0OOm
runst (cvout (n(n)))
0000 n00000D00D0000000D0DODOO0O SR800ODODOO M OO
OVOS3UOSF1-MiDO O 0oooooooDmMnOD000000O0ODODOODOOOO
0

24. 0000000000

JIS Fortran 000000000 DODODDODOOO0OO0OO0OO0OO0OO0O0OO0OOODDOOD
FORTRAN77 0D UODOOO FORTRANSO DO OUODOODOODODODODODOODOO
gooboobobooo0 cpubOOOoObDOOOOOoOODDODOOOOoOoOoOoDDDO
FORTRAN OO0 0OO0O0OO00OO0OO0OOO0OOOODOODOODOOOODOODOODOO0000
ugoooaoo



oooOooooooo
O0D0DODOOO0O0000000000OCO0ODDODODbObOOO0OOOO0Ogg clock OO O
xclock 00 O0000OO0ODOOO0ODOOOOOOOOOOOOOOOOODOODOODOO

uobooooboooobbooboboood
cuboonogon

real t ogotoooo 4000

call clock cPUOODOODOOOOOO

- ooooo o --

call clock(t) JodddoooocpPUDDOOOOODO tO
write(*,*) t oo

stop

end

obooooboobobooo

real*8 t 00 tddoosoooooooo

call xclock cPUOODOODOOOOOO

- oooooo--

call xclock(t) JodddoooocpUDDOOOOODO tO
write(*,*) t oo

stop

end

gooooooad
real t O
call clock(t,7) O
- 0oooon --
call clock(t,8) O
write(*,*) t O
stop
end

gboobooo tano

obooooboobobooo

real*8 t 00 t0o0bOoOs8sobooooon

call xclock(t,7) cPuOOOODOOOOODO

- 0oooon --

call xclock(t,8) dopoodooocpPuODOODOODOO td
write(*,*) t oo

stop

end

goOo0oooOooOoobOoOoobooOoO0oO0obOO0oO0obOoOOoooDOOoOoOoDbOoOoO0ODbObOOO0n0 FORTRAN77 OO
0 6A30-3-313[ 000000 FORTRANS0 O O 0 6A30-3-310l0 0 0O00OOO

00 FORTRANOOOOOODOODOODOOOOOOOOODOODOOO
OOoboooobOoooooDbooDO -1 f77c0FORTRANSO OO-1f90cOOOD

ubobgboobooboboboobobobobobooobon

ABCRT, ACCESS, ALARM BIC, BIS, BIT, CHDIR, CHMOD, CLOCKM
CTI Mg, DTIME, ETIME, FDATE, FGETC, FORK, FPUTC, FREE, FSEEK,
FSEEKO64, FSTAT, FSTAT64, FTELL, FTELLOC64, GETC, CETCWD,
GETFD, GETA D, GETPI D, GETU D, GVl ME, HOSTNM | DATE,

I ERRNG, | NMVAX, | SATTY, | TI ME, KI LL, LI NK, LSTAT, LSTAT64, LTI ME
MALLCC, PUTC, QSORT, RENAME, SECOND, SETBIT, SIGNAL, SLEEP
STAT, STAT64, SYMLNK, SYSTEM TI Mg, TTYNAM UNLINK, WAIT

% £77 program.f -1f77c 00o0oo0oooooooogofrr7o
% 90 program.f -1f90c Jo0o0oooooooonoadfeon
goo0oO0DOOoO0o0oOoOo0oOobooOoOU0O0ODbDOoO0ObOOOU0OO0ODOO0OO0ODOOO0ODOOO0OD FORTRANY7Y OO

0 6A30-3-313[0 000000 FORTRANSO O 0 0 6A30-3-3100 0000000



3. Dgoooooooo

gobobbooobobobooooooboboboooobboooooobooboooooboon
ugoobobboooboboboooooobooooboboboooooobooooobooon
uoooobooooobobobooooobobouooodo DMA OOO0MPIDOPYMO
PARALLELWARE U0 0O0O0OO0O0OO0O0OOOOOOO0OOO0OOOOO0OOOO00O000O00n
gboboooobboobobooooboboobboon

3L prun0D0O000O0O0O0DOOO

gobobboooboboboooooobobboooobbooooooboobooooobooo
ugoobobboooboboboooooboboooobobobooooooboooobooon
ugobooboooboooobooobboobboobooobbuoobbdod DMA ODODOO
00000 Parallel FORTRANOOOOOOOOOOODOOODOOODOODO

ooo
% cat a.f oopooooooo
read(5,*) a,b
write(6,*) atb,a-b
stop
end
% f77 a.f -0 a.out ..goooo

f77: compile start : a.f

*OFORT77 VO1-01-A entered.
*program name = MAIN
*end of compilation : MAIN

*program units = 0001, no diagnostics

generated.

% cat sample.def gooooo

*2 a.out < data.%n > result.%n 200000000 200000000
% Is data? 00 OOOCOOOODOOOO
a.f a.out data.1 data.2 result.? 0000

sample._def

% prun -f sample.def ... 0oad

% Is prun 000000000000 OOOOO
a.f data.1l result.1 sample._def

a.out data.2 result.2 result.l, result.2 000000

mpp-p/bulk-p 0000000000 CO0OOOCO0OOOOO0OOOOOOOCOCOOOO0O000O00O0O0O0O0O0OO
0b01e00000000000000O00

prun0 00000000

(1) OboO0ooO0bDO0bOOo0O0O0oDDbDOobOOoOoO0oDbDOobOOoUOoDOobDObOOODO ALLOO
000000000000 DEFPARTO DD O0ODOODOOOODODDOOODOODOO

(2 prund00000ODOOOOOODOOOODODOOOOOODOOOODOODOOODOD
O000D0000O00Ompp-pUbulk-p0 00000000 ODOOOOOOOOOOOO
oooooboobobooboooboooboooboooboboooboo



gbooodboooodn

gooooogoon ogpoooogd
> ogoo oooo %n 10o0obooooooo
>& g goooooo %r goooooooobobbooooooo
>> oo ogpooo %a gooboooooobobbooooooo
>>& g goooooo %t prun DOQOOQOQOO
%d prun OO0 OOOOO
%p goooooooooooooo b

gbobobobobobobobobobobobobobobobOob “man prun”
gboobobogog

32. 0000 DMAODODOOOOO

0000 DMAD Direct Memory Accessl] DO00DO0O0O0OODOOOOO DMA OOO
0000000000000 00D000000000D00O00000D0DDODD0O0O0 DMA O
00000000D0DDooooOoOooosSO0ooooD0U0ooooDDooooOoooooon
000000000000 000000D00000D000D0D000DO000oODOo00n
000000Dooo0o0ooooooooooon

ooo
% cat rdma_sample.f doooogoooo
program sample
integer rank, size
integer node(2)
call $rgetnod(node)
rank=node(1)
size=node(2)
write(*,*) "node=",rank,"size=",size
stop
end
% f77 -rdma rdma_sample.f ..ooooo
f77: compile start : rdma_sample.f Jo0oo0oooo0ooono DMA OOOO
000000000 *COPTION OOOODO
*0FORT77 V01-01-A entered. 000000000000 -rdma OOOOO
*program name = SAMPLE goog
*end of compilation : SAMPLE
*program units = 0001, no diagnostics
generated.
% prun -n 2 a.out .. 0o
node= 0 size= 2 prun000000O0O0
node= 1 size= 2

mpp-p/bulk-p 0000000000000 O0O0O0O0CO0O0O0O0O0O0O0O0CO0O0O0O0O0000CO0O000O00000
O01e000000000000000

0000000 00000 DMADOOOOOOO -FORTRAN-O (6A30-3-312)
00000 DMAOOOOOOO -FORTRAN77-0 (6A30-3-315)



3.3. MPI

MPIO Message-Passing Interfaced0 MPIForum OO0O0OOO0O0OO0OO0OOODOOO
uoobobobooobobobooooooboooobboboooooobooooboon
UMPIOOOOOOODOoOOoOooooooboooobooobobooboooooboanoo
Ubobobobobob0obob0obboboboo0obOnbO sreooOUIDOODOOO MPI-2
uobooooboood

ooo

% cat mpi_sample.f ooooooooo

program sample

include "mpif.h"

integer size, rank, ierr

call MPI_INIT(ierr)

call MPI_COMM_SIZE(MPI_COMM_

& WORLD, size, ierr)
call MPI_COMM_RANK(MPI_COMM_
& WORLD, rank, ierr)

write(*,*) "proc=",rank, "size=",size

call MPI_FINALIZE(ierr)

stop

end
% mpif77 mpi_sample.f .. 0ooooo
f77: compile start : mpi_sample.f MPIOOOOOODOOOOODO

OMPIDOOOOODOOODOODOOOO

*0FORT77 V01-01-A entered. 00DO000oooooon0 path O
*program name = SAMPLE goooo
*end of compilation : SAMPLE % set path=($path /usr/mpi/bin)
*program units = 0001, no diagnostics
generated
% mpirun -n 2 -np 4 a.out .. 0gd
proc= 0 size= 4 MPIOOOODOODOOO
proc= 2 size= 4 OMPIO 100000D00000O0O0OO
proc= 3 size= 4 ooooooooooooooog
proc= 1 size= 4 % setenv JOBTYPE SS

mpp-p/bulk-p 0000000000000 00000O0000000000000000000000000O0000
Oled000O0ooOOoooooooon

oooooocOo OMPIOPVM O0O0ODO0OO(6A30-3-026)

MPI O0O0000O000000000000000000000000000O000000

gbomoobobooooooob ssobgoooooon

#1/bin/csh

#0%-q parallel

#0@%$-N 4 OooooopPoo400O
#@%$-1T 1:00:00

#0@%$-IM 2GB

#0@%$-J SS Oooooossoon

cd work

/usr/mpi/bin/mpirun -n 4 -np 32 a.out 4000 320000000




MPIODOOOOODOoOooDoOooooboooooooooboobooaooo

% mpif77 -o program program.f O0000d programO 0000
% mpif90 program.f foooooooooo

% mpif77 -64 program.f 64000000000 0OODOOO
% mpif77 -mpilibf7 program.f sdooononooonooood

MPIODOOOOOOoOooOoOoooooooboboobooon

% mpirun -n1 -np 8 a.out ilggoooboosoooood
% mpirun -np 8 a.out oooooboooo 8uoooooo
% mpiexec -N 1 -n 8 a.out lggoooboosoooood
OO0O0O0Ompirun -n 16 -np 128 a.out l6e0000000128000000
OO0OOOmpirun -n 4 a.out 4000000040000000

mpp-p/bulk-pO00 unlint 0000000000000 O000O0O00O0O0O0O0O0O00OO

MPIODOOGOOOOOO

1)

@)

®)

(4)

(®)

(6)

()

MPI 0000000000 O0OO0ODOODOOOO npif77 OODO npifo00C OODODOO
npicc00 000000000 DOODOOODOODODOOoDODOOooOOOoOO MPIOOOOO
0000000000 oooooooooooooiooogooooooooooon
ooooofy7o000 feoO00OO0OO0ODOOODODOOOODO mpif77000OD0DOODOO
Of770000000000000DO000O0DODOO0OOOODOOOO

% 77 -i,U -nosymnchk -1/usr/mpi/include -L/usr/mpi/lib -Ifmpi -Impi mpi_sample.f

MPI OOO0OD0COO0OO0 npirunO00O0 npiexecOOOOOOOOOODODOOO
gbooobobobobooboobooooboobobbobboboobooobooboo
OOoOoO0oOoooOOmpp-pObulk-p00C0C000O0DOCOOOOCOOOOOOOODODOO
gboobooobooobgoobooboobooobooboobooobo

MPI ODDOODOOODO0OO0DOO0O00OO00000O00000b00b00moooDg MPIED
gboombooobogobooboooboooobboobooboboobooobooo
obooobooooooboobooooboooobooPOledObIeDOODODOOO
ob12800000000000000000O0O0O0OOO

gbooobgobobobboobooboooobooboobooooboobg ALL DO
gbooooboobbOog DEFPARTUOOOODOODOOODOOOODOODOO

0000000000 ssOsetenv JOBTYPE SSOO#@-J ssOOOOOOODOOOO
goobgooboo MMPIiODOOODOODODOOOODOOMPIDODOODOODODOO
oooobooooooboobO ssubobobooooobooboobobbobooooDoooo
gboboooboobooboobobuooboobboobboobooboooboboooboon
gboobooobooobooboooboobboobooobuoobbooobo

oboobOo0o0oobooobooobooooboobobooooobogoOsystemerror
Oerrno=l26 000000000000 O0OOOODLDOODOOODOOOOCOOOO
DMA OOODOOCOOOOCOOOMPIOPVM O00O00OO(BA30-3-026)0 000000
gooooooooooogooooooooo bMAOOODOOO-rdre00O000COO
gbooooboooo

MPI _Send O MPI _Recv OO OOOOOOO0O0ODOOOODOOOODOOOOOOODOOO
gbooobgoobobobooboobgoooobooboooboboooboobooobooboo
gboooobooobgoobooboobooobooboobooobo



3.4. PVM

PVMI Parallel Virtual MachineOO O OO OOOOOO0OOOO0ODOOODOOOOOOOO
uoobobobooobobobooooooboooobbobooooooboooooboon
ot pvM OO0OOOOOODOOOOOOOOOOOOOOOOO0

goo

% cat host.f ooooooooog
program host
include "fpvm3.h"
integer mytid, tids(4), numt
call pvmfmytid(mytid)
call pvmfspawn("node®, PVMDEFAULT, O200000000O0OO

wxw

& 2, tids, numt)
write(*,*) "parent =", mytid
write(*,*) numt, "tasks:", tids
call pvmfexit(into)
stop
end

% cat node.f ooooooooog
program node
include "fpvm3.h"
call pvmfmytid(mytid)
write(*,*) "task id=",mytid
stop
end

% f77 -i,U -nosymnchk host.f .. 0oooo
-1/usr/pvm3/include doooogog hoest OO O
-L/usr/pvm3/1ib/$PVM_ARCH
-1fpvm3 -lpvm3 -0 host -parallel gopvmMOOODOOODOODOODODOO
f77: compile start : host.f doooodoooooooooooag
% source /usr/pvm3/pvm_config
*0FORT77 V01-01-A entered.

*program name = HOST 00@obooooooboooooo
*end of compilation : HOST gooo
*program units = 0001, no diagnostics $HOME/pvm3/bin/$PVM_ARCH
generated. o0o0D0o0o0oooooopooooo
% f77 -i,U -nosymnchk node.f .. 0oooo
-1/usr/pvm3/include 00000000 node OO

-L/usr/pvm3/1ib/$PVM_ARCH
-1fpvm3 -lpvm3 -onode -parallel
f77: compile start : node.f

*0FORT77 V01-01-A entered.
*program name = NODE
*end of compilation : NODE

*program units = 0001, no diagnostics

generated.

% cp node host $HOME/pvm3/bin/$PVM_ARCH o0oo0O0ooooooooo

% pvm -batch start PpvMmOGOO4OQOGOGO

pvmd still running.

% $HOME/pvm3/bin/$PVM_ARCH/host .. 0o

parent = 267266 gooooooooooommoooooo
2 tasks: 332801 365569 oooooooooooooooog

0 0

% pvm -batch end PpvMmOOOGOQOGOO

pvmd already running.




% Is /tmp ooooo mmp ODOODOOO
pvml.10391 pvml.10391.t51401 000000000 PYM_LOGDIROOOO
pvml.10391.t59401 oooooo

% cat pvml_10391.t51401
task id= 332801

mpp-p/bulk-p0000000000CCO00OCOCO0OOCOO0OO0OCOOO00O0OCOO000O0O0O0OOOOOOL0OO0
0b0i1e00000000000000O00

oooooocOo OMPIOPVM O0O0ODO0OO(6A30-3-026)

3.5. PARALLELWARE

PARALLELWARELD Express 0 ParaSoft U0 OO O000O0OO0OOO0OOO0OOODOOO
gbooboobobbooboobooboboobooboobobbooboobon
gbobogobooooooon

gooobogoo-ooobooo

% cat host.f ooooooooog
program host

call kxinit()

pgid=kxrun(2, "node") 020000000000
call kxclos(pgid)
stop
end
% cat node.f ooooooooboo

program node

integer rank, size
integer env(4)

call kxinit()
call kxpara(env)

rank=env(1)
size=env(2)

write(6,*) "node=",rank, "size=",size

stop
end
% srf77 -kXH host.f -o host .. ooooo
f77: compile start : host.f go000ognoOd hestO OO

*0FORT77 V01-02 entered.
*program name = HOST
*end of compilation : HOST

*program units = 0001, no diagnostics

generated.

% srf77 -kXN node.f -0 node ..0oooo

f77: compile start : node.f 00000000 noded OO

*QFORT77 V01-02 entered.
*program name = NODE
*end of compilation : NODE

*program units = 0001, no diagnostics
generated.

% Is

host host.f host.o node node.f

node.o




% host ... oo
Using partition: "ALL"

Allocated 2 nodes, origin at 0, process id
378483.

Loading "node"™ into all processors ...
Loaded, starting ....

node= 1 size= 2

node= 0 size= 2

%

JO00CubixOOODO
% cat cubix.f CubixODODOOOGOO
program node

integer rank, size
integer env(4)

call kxinit()
call kxpara(env)

rank=env(1)
size=env(2)

call kmulti(6)

write(6,*) "node=",rank, "size=",size
stop

end

% srf77 -kcubix cubix.f -o cubix-node .. ooooo
f77: compile start : cubix_cbx.f CubixODOODOOODOODOOO

*0FORT77 V01-02 entered.
KCHF233C 00 TIORET
the variable is defined but
never referred.
*program name = CBXMAIN
*end of compilation : CBXMAIN
*program units = 0001, 0001 diagnostics
generated, highest severity code is 00

% cubix -n 2 cubix-node .. 0o
Cubix Version 3.2.5 -- Copyright (C) 1988-1996 cubixODOOODOODOO20000000
ParaSoft Corp.
All Rights Reserved Copyright (C) 1998,1999,
Hitachi Ltd.
HI-UX/MPP for SR8000 PARALLELWARE 03-00
Using partition: "ALL"
Allocated 2 nodes, origin at 0, process id
378501.
Loading "cubix-node" into all processors ...
Loaded, starting ....
Execution Terminated:
node= 0 size= 2
node= 1 size= 2
System 0:1 User 0:0
CUBIX: exit status 0
%

mpp-p/bulk-p 00000000000 O00O0OCOO0O0DOOCOOO0DOCOCO0O0DOCOOOO0000O00O0O00O0OO
ObO1e00000000000O0000

0000000 OPARALLELWARE DODOOOD0OO -FORTRAN-O (6A30-3-400)
0O PARALLELWARE O0O000O0O0O -FORTRAN-O (6A30-3-401)



3.6. Parallel FORTRAN

Parallel FORTRAN OO00OO0OO0OOOOOODO FORTRAN O0O0O0OO HPFOHigh
Performance FortranD OO0 O O00OO0OOO0COO0O0O Fortran90 DODOOOOOOODOO
ugoobobobooobobobooooooboooobobobooooooobooooboon
ugoobobobooobobobooooooboooobobobooooooobooooboon
ubobooooboooobboano

ooo
% cat program.f ooooooooo
integer a(100)
Thpf$ processors p(2) HPFOOOO20000000000
Thpf$ distribute a(block) onto p
do 10 i=1,100
a()=i
10 continue
write(*,*) (a(i),i=1,100)
end
% pfo0 -Wt,"comlib(rdma)" program.f ..oooogoag
pf90: translate start : program.f dooooooooooboooooooo
0ooooomooooooooooog
*Parallel FORTRAN V01-01 entered. O00DMAOOODODOOOO
*program name = MAIN gooooooooo MPIDOODOO
*program units = 0001, no diagnostics % pfo0 -Wt,"comlib(mpi)" program.f
generated.
% Is pfnode 000O0O0O0OO0OOOOOOOOO
pf_node program.f oooobooooon
% Is pf_node
program.f
% 90 pf_node/program.f -lhpf
90: compile start : pf_node/program.f ..ooooo
foo OO0 0OD0D0O0ODODOHPFOOODODOOO
*0FORT90 V01-01-A entered. oooog
KCHF656K -1  the following file is
referred.--/usr/include/hpf_var_info.f90 gooooooooo MPiOOO
KCHF656K -1  the following file s % mpif90 pf_node/sample.f -lhpf
referred.--/usr/include/hpf_intrinsics.f90
KCHF656K -1 the following file is OMPIOOOOOODODOODOODO
: 00DOo00ooooooo path O
*program name = MAIN oooog
*end of compilation : MAIN % set path=($path /usr/mpi/bin)
*program units = 0001, 0002 diagnostics
generated, highest severity code is 00
% prun -n 2 a.out .. go
1 2 3 prun 0O0O0O0OOO
4 5 6 gooooooooo MmpPIOOO
: % mpirun -n 2 a.out

mpp-p/bulk-p 0000000000000 O0O0O0O00COO0O0O0O0O0O0O0O0CO0OO0O0O00O00C0O0O000O00000
O01e000000000000000

0000000 OParallel FORTRAN OO O (6A30-3-320)
O Parallel FORTRAN O 0O 00O O (6A30-3-321)



4. OJO0O0O0OOOoO0oO0Odg

SR8000 DO IDOOODOOOOODOOODOOOOO MATRIX/IMPPO MSL20 BLASO
LAPACKO ScaLAPACK D O0OO0OO00OOO0ODOODOOODOOODOODO frrdfoo O
gobooooboboabon

-Logoooooboboan
-I0D00DbOo0on

oobDoobDo- 00o00oo0ooooooooooooooooooooooooon
gobooobbooboobbooboobobooboooboobooooooboobon
uobooobobooboobbooboobobooboboobooboboooboobo-L 0o
ugobooooboood

4.1. MATRIX/MPP

uoboobogb 1 bo0boooboboobooooboobooobbooboobo
ugoobobbooobobobooooooboooobooboooooobooooobooon
ggobboboooobbboboooobbobooooobbboooooobonboo
MATRIX/MPP O O00OO0OO00OOOOOODOOCOODOOOODOOOODOOOOD
OO0DO00DOOoOOODO0OO—-parallel D0 O0O0O0OO0O0ODOOO0ODOODOOO

MATRIX/MPP ooooooo —lmatmpp
ooooooo —lmatmpp_sc
MATRIX/MPP/SSS Oodogoooo _|matmpps
Ooooooooo
ooooooo —Ilmatmpps_sc

0000000 DOOCO0ODODOO0ODOO00OO00o0g MATRIX/IMPPO (6A30-7-600)
0000000000 0000O0OO0 -0000000-MATRIX/M/SSSO (6A30-7-601)

ooooooooooog

% cat hsrulm.f O
parameter ( n=10 )
implicit real*4(a-h,o0-z)
dimension x(n)
ix=0
call hsrulm(n,ix,x,ier)
do 10 i=1,n

write(6,*) i,x(i)
10 continue

end

gboooood
oboooboobooobooooon

% 77 hsrulm.f -Imatmpp_sc .. 0oooo
f77: compile start : hsrulm.f O

p-s/bulk-s 0O

3 0O
©

*OFORT77 V01-02 entered.
*program name = MAIN




*end of compilation : MAIN

*program units = 0001, no diagnostics

generated.

% a.out L. go*
1 0.148270369 aout 0OOOO
2 0.158839539
3 0.

645628750

10 0.629399896
% 77 hsrulm.f -Imatmpp -parallel ..0oooo
f77: compile start : hsrulm.f good

mpp-p/bulk-p O 0O

[

gooad
goog

O
oOod
Ooood
Ooood
OoOd
OoOd

*QFORT77 V01-02 entered.
*program name = MAIN
*end of compilation : MAIN
*program units = 0001, no diagnostics
generated.
% a.out .. 0gd
1 0.148270369 aout 0OO
2 0.158839539
3 0.645628750

H

10 0.629399896

mpp-p/bulk-p 0000000000000 00000MOO0O0O000 mpp-shulks000000

ooogoooooogoooo

% cat hdru3mdp.f ooooooooo
parameter ( n=20,npu=2 )
implicit real*8(a-h,0-2)
dimension x(n),Istpu(0:npu-1),

& iopt2(2),ienv(4)
do 10 k=0,npu-1
Istpu(k)=k
10 continue

iwksize=max(128, (npu+1)*8)
call hmatinit(iwksize, Istpu,npu,ier)
call hkxpara(ienv)

me=ienv(1l)
ix=0
ioptl=1
iopt2(1)=1
iopt2(2)=1
call hdru3mdp(n,ix,Istpu,npu,ioptl, OO00O000OOOOOOOO
& iopt2,x,ier) 0200000000000
write(6,*) me, n, ier
do 20 i=1,n
write(6,*) i,x(i)
20 continue
end
% 77 hdru3mdp.f -Imatmpp -parallel ..ooooo
f77: compile start : hdru3mdp.f goooDooooooood
*OFORT77 V01-02 entered.
*program name = MAIN
*end of compilation : MAIN
*program units = 0001, no diagnostics
generated.
% prun -n 2 a.out .. go
0 20 0 prun0 000000

mpp-p/bulk-p 000000000000 O0C0O0O0O0OO0OOOO0OOCOOCOOO0OCOO0OO0OO0O00O000O00000
O01e000000000000000



4.2. MSL2

gboboboil1bobooboboobobooobobobooombooboobooboDbo
gbobobobobobobmooboboobobobobobobobobobon
gbobogoooobobobooooMsLz Doooooobobooooobooboobooon
00000000000 D0bOOoObDODbOobobOOdD-parallel COOOOOODOO

obooooom

MSL2

oooboog

—IMSL2P

oooboog

—IMSL2

goooogoo

goooooooo

gooobooboooboboobo
gooobooboooboboooboo
gooobooboooboboooboo
goooboobooobobooooo

gooo

MSL2 O 00O (6A30-7-613)

MSL2 O 0000 (6A30-7-610)
MSL2 OO0 0O 0O (6A30-7-611)
MSL2 OO0 00O (6A30-7-612)

% cat msgulm.f
parameter
implicit
dimension
ix=0
call msgu
do 10 i=1

write(6
10 continue
end

% 77 msgulm.f
f77: compile st

*OFORT77 V01-02
*program name =
*end of compila
*program units
generated.

% a.out
0.
0.

1
2
3 0.

10

g
( n=10)
real*4(a-h,0-2)

x(n)

Im(n, ix,X,ier)
N

) 1,x(1)

-IMSL2
art : msgulm.f

entered.
MAIN

tion : MAIN
0001,

no diagnostics

gbooooodg

..ogooo
gooboobobooboobooobd

.go

148270369
158839539
645628750

0.629399896

aout DO0OO0O

mpp-s/bulk-s O O O

gooobooooa

oooooobooooooo

gooad

% cat msvafm.f
paramete
real a(n
iopt=2

data ((b

r (n=2,m=2)
,m),b(n,m),r(n,m)

data ((a(i,j).i=1,n),j=1,m)/1,2,3,4/

(i,j),i=1,n),j=1,m)/1,2,3,4/

call msvafm(a,n,m,n,b,n,iopt,r,n,ier)

oboobooobooo




stop
end

% 77 msvafm.f -IMSL2P -parallel
f77: compile start : msvafm.f

*OFORT77 V01-02 entered.
*program name = MAIN

write(*,*) ((r(i,j),i=1,n),j=1,m)

.gboog

goooboboobooboood

*end of compilation : MAIN

*program units = 0001, no diagnostics

generated.

% a.out .. oo

2.00000000 4.00000000 aout 0OOOO
6.00000000 8.00000000
mpp-p/bulk-p 0000000000000 00000000000000000N00N0NON0NON0NOONooNoo

MCLF1M MDLB1M MDVAFM MDVF2M MSLF1M MSVB2M MSVMTM
MDFB2M MDLF1M MDVAHM MDVFHM MSLKIM MSVFIM MZFB2M
MDFC2M MDLF3M MDVBIM MDVMFM MSVAFM MSVF2M MZLFIM
MDFI2M MDLF5M MDVB2M MDVMTM MSVAHM MSVFHM
MDFS2M MDLK1M MDVF1M MSLBIM MSVB1M MSVMFM

4.3. BLASO LAPACKUO ScaLAPACK

BLASL[I Basic Linear Algebra SubprogramO 0 00000000000 0OOOOOOO
0 0 0O OLAPACKO Linear Algebra PACKageD D 0 0000000000000 OOODO
0000000000000 DOScaLAPACKO Scalable Linear Algebra PACKageO O O O
0000000000000 00000000000000000D00000 URLODODO

O0Db0o0obOo0oogobobogbOod vol.3No.5(2001.9)0 000000

http://www.netlib.org/blas
http://www.netlib.org/lapack
http://www.netlib.org/scalapack

ugooboboboooboboboooooobooooboboboooooobooooobooon
OO0D00D0o0DOObDOOoODO0OO-parallel OO 0O0O0OO0O0ODOODOOODOOOO

googooogo goooood
BLAS —lblas —lblas_sc
—llapack —llapack_sc
LAPACK —lblas —lblas_sc
—l|scalapack —lscalapack_sc (ScaLLAPACK)
—lpblas —lpblas_sc (PBLAS)
—ltools —ltools_sc (tools)
ScalL APACK —lredist —lredist_sc (redistribution)
—|lblacsBASE —lblacsBASE_sc (BLACS Base)
—lblacsF77 —lblacsF77_sc (BLACS Fortran)
—|blas —lblas_sc (BLAS)

goooOooboobOoboooooooooobooboobooooboooo




O0O0OScaLAPACK DO ODOOOO MPIOOOOODOOOOOOOOOOOOO MPIOO
OO0DOoO00o0oO0oDoOommpifr7Ompifo0 OODOOOOOOOO MPICODOOOODO

obooooooon

00 00BLASO

% cat blas.f
program blas
parameter ( n=4 )
dimension x(n)
do 10 i=1,n
x(1)=1d0*i
continue
alpha=2d0
incx=1
call dscal(n,alpha,x,incx)
do 20 i=1,n
write(*,*) x(i)
continue
stop
end
% 77 blas.f -lblas -parallel
f77: compile start : blas.f

10

20

*0FORT77 V01-02 entered.
*program name = BLAS
*end of compilation : BLAS
*program units = 0001,
generated.
% a.out

1.12500000

2.00000000

3.25000000

4.00000000

no diagnostics

obooboobooo

. ooooo
goboobobooobooobd

... 0o
aout JOOOO

mpp-p/bulk-p 000 0000000000000000

000 0LAPACKO

% cat lapack.f
program lapack
parameter (n =2, lda = n+1, ldb = n+1,
& nrhs = 1)
double
b(ldb,nrhs)
integer ipiv(n), info
data ((a(i,j),j=1,n),i=1,n)/2d0,4do,
& 1d0,1do/
data (b(i,1),i=1,n)/14d0,5d0/
call dgesv( n, nrhs, a, lda, ipiv,
& b, 1db, info)
do 10 i=1,n
write(*,*) b(i,nrhs)
continue
stop
end
% 77 lapack.f -llapack -lblas -parallel
f77: compile start : lapack.f

precision a(lda,n),

10

*0FORT77 V01-02 entered.
*program name = LAPACK
*end of compilation :

LAPACK

oboboobooobooo

. ooooo
gobooboooboobooboboo




*program units = 0001, no diagnostics

generated.
% a.out .. 0gd
3.00000000000000000 aout 00O OO

2.00000000000000000
mpp-p/bulk-p 0 0000000000000 OOOOO

0000 ScaLAPACKO

% mpif77 fexample.f -parallel -Iscalapack ..ooooo
-Ipblas -l1tools -lIredist -IblacsBASE mpif770000000O
-IblacsF77 -1blacsBASE -Iblas
f77: compile start : fexample.f OMPIOODOOODOOOOODOOOOO
00D000oooooOon0 path O
*0FORT77 V01-02 entered. oooog
*program name = DLU % set path=($path /usr/mpi/bin)
*program name = AINITBLK
: oooooooooo
*end of compilation : PRTMTX /usr/examples/ScalAPACK/fexample.f
*end of compilation : AINITMTX goooogooo

*program units = 0007, 0001 diagnostics
generated, highest severity code is 00
% mpirun -n 2 a.out
The input values of matrix Aon (0, 0) are : ... 00O
0.0 1.00000 1.0000 1.00000 1.00000 mpirun DOO00000O

The Solutioﬁs on (0, 0) are :
5.60000 4.60000 3.60000 2.60000

1.60000 0.60000
-0.40000 -1.40000 -2.40000 -3.40000
-4.40000

%
mpp-p/bulk-p0000000000C0000O00O0COOO0O0O00O0OOO0O0O0O0O0O0O0O0C0O0COO0O0O0O0O000
Obi1e000000000000000

5. gbobooaoo

5.1. JOo0ooog

UNIX OO0O00O00ooooobbooooboooobbooobbaoaonoboooonon
ugoobobboooboboboooooboboooobobobooooooboooobooon
Ubob0ob0ob0obobO0obob0ob0obOobobOosreooodn srRz2zo1 00000
uoboobooobboonoboooobbdoIeEeeD00DDOOO0OODOO

00 SR8000 [ [ SR2201 [ O MO D
Qopn | * L175495x 107 38538 + 1.175495x 10" 38538
+ 3.402823x 10 + 3.402823x 10 079
+ 2.225074x 100°0°] | + 2.225074x 1003050 | ¥ 2397000% 107 L
ooo 308 308 + 7.237005% 10

+ 1.797673x 10 + 1.797673x 10
2.225074x 10°3%80 | + 3.37x 10" 4932

oooo
+ 1.797673x 10308 + 1.189731x 10

I+

4932

MOOOOOOOOOOOOvos3aOm-unixOOOOOOOOoOOoOOoOoooo



goooooooooooobooood IER ODD0000O0O00O0OO0OOOOO0O0O0O0
ddddodOo sreooO 0 0000 ooooooooovosaoooooooo
000000 munixOOOOO MOOODOOODOOODODOO sReOOOO OO OODOO
gooooooooobdoonodooooooonoooobooooooa

% a.out —F port(host)’
Jddddddddddodoooooogzs. oooooooooooooooon

52. 000000

uNIXOOOOOOOoooooooooooooboboboobobO FORTRAND
uooboboboooboboboooooobooooboboboooooobooooboon
gbobooooob 20000b00b0oboOo0obooboboOoooon

gooooooooooobogn
oooo gbooogoooood 000000
FORTRANOOUOOOOOm-unixOOODOOODO
goono |00000o00o0o

OO0D0OO00staqufi 000000000 O0dstdufdi 000000000000 DODOOO
U0O00Oob0Ooo0b BACKSPACELD D DODODOOOOOODODO

st duf O0000o0o0oO00ognD BACKSPACELDOOOODODOOODODOOOOO
gbboooboobobooboooboobobooboooboon

dst duf O000D0OO0000DbOb BACKSPACE DD OOOODOOOOOOODODO
gbooooboooboobboobooobogoon

SRO I 000D 0ODONODODONONODODODONO0NOoDODOoDOoDOoDOoDOoDDDoDOoDOoDOoOoOoOoOO

gooooobooooooooonoooooogo

% a.out —F port(stduf)’
FORTRANOODUOUOOOOUOGOGOoooooao

% a.out —F port(fortuf, host)’
O0000O0O0O0OOFORTRAN OO O0OO0OD0ODODOO0OO0OO0OOOOOOOOOOOODODOOO
00000000000 oooo@mobooobooooooooooooao
dddddooooooodd

= VoS3 DOoOoooooooooooobbo vssooooooooooooooooobobooooooo
FORTRANOD DO D DODO vossOoOoDooooooooooo
>> FCONVERT 00 UO0O0OO0ODOO0O,0000000000, PS2STDUX
>> FCONVERT 0O 000000, FORTRANO OO OO O, PS2H TUX
>> FCONVERT 00000000, 0000000000, DA2STDUX
>> FCONVERT DO 000000, FORTRANO OO OO O, DA2H TUX
oooooooooOoooooopinaryD 0o FTPOOOOCOOOO



53. 000000

goboooobboobbooobooobbooboboooobboobobooon

ooooao
gboobst0boboobooboobomoboobooebbobobOobbOobOobOon

uoboooobbuoobboooobboobboooobboanoo

oo0oDoooooooooooo

% cat program.f
read(5,*) a,b
write(6,*) a*b,a/b
stop
end

% f77 program.f

% a.out

?

23

6.00000000 0.666666687

obooboobooboboo
goooboboobanb

gobobboooboboboooooobobobooobbooooooboobooooobooon

goboooobobooboooobog

0000 adata OOO0O0OO0OOOCOOOOOOO

% cat a.data

23

% a.out < a.data .. 0000 a.datad0 0000
6.00000000 0.666666687

0000 adata DOOO0OOOOO0DOO aresult OO0
% cat a.data

23
% a.out < a.data > a.result .. 0000 a.datad 0O 00O
% cat a.result a.result0 00O
6.00000000 0.66666627 ... 00O
OPEN O

bbb ndbOoooboobboooboobooobooboonoboooban
uoboooobooobbooboboood

0000 1000000000 data OODOOO0OOOOODOOODOO
open(10,file=,"data’ ,stauts="old" ,form="unformatted )
read(10) a,b
write(6,*) a*b,a/b
close(10)
stop
end

0000 1000000000000 result DODO0O0ODOOOOODODOODOO
open(1l,file=,"result’ ,stauts="new’ ,form="formatted )
read(5,*) a,b
write(11,100) a*b,a/b

100 format(lh ,2d12.4)
close(11)
stop
end




0000 FTnnFxxx

OPEN U0O0O0OODOOO0OODOODOODOODOODOODOO0O0O0OO0O0O00OO0OOOooDoOon
O0OO0OoPENUDUODODODODODOD FTnnFxxxDOOODOODOODOOO0O0OO
U0O0DbO0bob0dmnmUOD0O000Xxxx0 FORTRANO OO O OO MM FORTRAN OO
gogobbbooooboobooooooboboboooobobobbooobboobooooonbon
gboboboboboboboboboorbmuoboboobobooboboonoo
uobooooboboobobooooboboobo

goo

% cat program.f
read(10,*) a,b
write(11,100) a*b,a/b

100 format(lh ,2d12.4)
stop
end

% 77 program.f

% cat data

23

% setenv FT10F001 data

% setenv FT11F001 result

% a.out

% cat result

0.6000E+01  0.6667E+00
aNsoonooooood

#1/bin/csh

#0@%-q single

#0%-1T 00:30:00

#0$-M 1GB

cd work

setenv FT10F001 data

setenv FT11F001 result

a.out

0 datad
O resultd

(|
(|
(|
(|
(|
(|
(|
(|

goooo
gooano

UboobD FTnmFxxxDODO0OO0O00000000000000000000000
gbooboobobooboobooboboobooboobobbooboobon
gboboooobobmobobooboboboooooobobooon

SR8000 0 O SR2201 00O MOO
mpp-s/p/bt P Ak FTnnExxx FTnnMxxx
bulk-s/p/bt | O 0O 0O FTnnSxxx{

m-unix oo FTnnExxx FT nnFxxx

gbog srsooo 0O onoooon FTnnmMxxOD ODOODOOoOODOOOODOO0O MOO
uoobobobooobobobooooooboooobobobooooooboooooboon
goboogdsi ooboobooabobooooboooan

gsreooo 0 0nooooon

setenv FT10F001 datal ... SRgooOO OO DODODO
setenv FT11E001 data2 ... SR201 000 0O0O0
setenv FT12M001 data3 .. MOOODOOO
Om-unixOOOO

setenv FT10F001 data3 .. MODOOOOO

setenv FT11E001 data2 ... SR201 000000




oooooono ft.on

OPENUUIDOUDOOUOUODUOUODOUOUOOREADUWRITEDDOOODOODDO ft.nn
UnnO00000000000O0O0OREADODOOOOODODOOOOOOODOODOODOOOO
UODOWRITEDODOMmMOoOOOOOOoODOoOOoOOoOO0oDOoODmooooooooon
obobooooobobog

goo

J0d0oo0oo0000ooooo0Ooo ft1uoooooo
% cat a.f
read(5,*) a,b
write(11,*) a*b,a/b
stop
end
% f77 a.f
% a.out
?
23
% cat ft.11 .. ODoooooooooooooog
6.00000000 0.66666627

jgoodo ftaoooo0ooag
gooono ft.ao0n0oo0og
% cat a.f
read(10,*) a,b
write(11,*) a*b,a/b
stop
end
% 77 a.f
% a.out
KCHF348R the read statement for unit id 10 is invalid. the file does not exist.

ft11o0o000go

ooo ftl
obooboobooo

JodoD fao0D0o00Ofti0000000D000 ft121000000
% vi ft.10 .. ODooooo

23

% a.out

% cat ft.11

6.00000000 0.66666627




